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CENTUM QUESTION PAPER -5

TIME:- 3 HRS MAX MARKS :- 100
PART -1

Answer all the 14 questions simeng g 14 GaaeflmEpaGh LB wallsEan 14x 1= 14

D) A- {12}, B {284, ¢ {56} HOHID D - 15,6,7,8) erenfled EBp
QBN L eneusmeafled 61 afliner anHmi?

(@) (AxC)YC (BxD) (@) (B D) (Ax()
(&) (AXDB)C (AxD) () (D x A) (B A)

If A {12}, B {1,234),C {56} and D=1{56,7, 8} then state which of the
following statement is true.

(A) (AXCO)C(BxD) (B) (Bx D) (AxC)
(COY(AXDB)C(AxD) (D) (DxA)yc (BxA)
2) n(C) — m onmd n(B) = nerens. A -elmbal B-&@ euenguwimisbaiug L eleunn) Heoo1blereons
©_meysafleir GWon & 6Tev0T6t0NHEms.
(&) m () n" (&) 2" 1 (rr) 2™

Let n(A) = m and n(B) = n then the total number of non-empty relations that can
be defined from A to Bis

(A) m" (B) n" (C) 2™ —1 (D) 2™
3) 7=___ (ol 100)

(@)1 (2h) 2 (@)3 (/) 4

7T =___ (mod 100)

(A)1 (B) 2 (C) 3 (D) 4

) oo #losd esnjarflensuied 31 o st o eener. 56T 16-6ug 2 miiy m ereufled.
SIHSHS Gl (bd OSMLTeuflemsulied 2_eitem eTedeON 2 MLILS6rlE0T Fn(bSH6D.

() 16 m (2) 62 m (@) 31 m ™ 2 m

An A.P. consists of 31 terms. If its 16t term is m, then the sum of all the terms of
this A.P. is ‘

(A) 16 m (B) 62 m (C) 31 m (D) ‘71 m

5 @O Bimed sievoflulledt, dlew Hlred AHMI Stewof]

(21) 2160& Si6v0f] () cemeel L Sievof]
(@) Blgeb siev0f] () BlemT St600f]
Transpose of a column matrix is

(A) unit matrix (B) diagonal matrix

(C') column matrix (D) row matrix
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| I h 7
Find the matrix \ if 2.\ + Ir} TI [" :’l
2 2 2 2 |2 2 1
(A) ] o ll (B) [2 l (C) ‘2 2] (D) L 2’
1 3) (5 7 o .
2X 4 l _‘ |() _| ereuflev, .\ er6dTm Disvoflemuwidh sHnevors.
0 ( . )
2 -2 g 2 1 2 2 1
(a)l ;o @, @ |, ] ™|,
(22 l\j O —uller Siey
(&) —1 (=) 2 (@) 1.2 (FF) @6 ergiexD Eedemen
The solution of {2z - 1)3 = 9 is equal to
(A) —1 (B) 2 (C) -1, 2 (D) None of these
\-’L‘Jr((’ stetreLh NG pm) Camamauller BlaE si(moEI ol oD
xX"—x—6
Ay X—3 x+3 _ x+2 =2
&) xX+3 (B) e © -3 (D) x+ 2
I ) |
The lowest form of the rational expression ’(2""—5\“% is
x—x—-6
x—3 X+ 3 x+2 x—3
(A) x+3 2 x S (©) x— 3 () x+2
AB  BC . . . . . .
. = ﬁ)_ ereufled, A BC iommiip EDF eTielLIn(p s 6liq616UMHSemEUILITS SiemLoW|D.
(8) LB =/E (&) LA=/D (@) /B =/D () LA=LF
If in triangles ABCand EDF, g—g =0 then they will be similar,
when
(A) /B =/F (B) 2= (CHaE"— /D (D) LZA=ZF

I'D) Y 2i5dled siemwowb yetefl A —ulledt 018mG5H81S OFnemeoey S wHMID \ :.Fded Siemioud

yeefl B-ulletr lemLiol L& 6ipnemevey H erevfled, A B eredrm GmisHGamL 60T HoedTUN(H

(@) 8a Dy — 10 &) r =38 () y =5

(3‘) 1 '—)l/ - 10
If A is a point on the Y axis whose ordinate is 8 and B is a point on the \'axis whose
abscissae is 5 then the equation of the line A Bis

(A) 8r 4 Hy 10 (B) 80 5y 10 (C) r =8 D)Yy=>
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||) sinf + cos§ = a wHmID sec @ + cosectd = b erefled b(a® —1) —ebr ALY

(&) 2a (&) 3a (@) 0 (/) 2ab
If siné 4 cos@ — a and sec@ t cosec b, then the value of h(a* — 1) is equal to
(A) 2a (B) 3a (C)o (D) 2ab

U—) b 5 0 8 wHpId smywigd 13 6515 & _eniw Grieu & snibiledr £ wigid
(1) 12 .18 (2p) 10 @818 (@) 13 01518 () 5 eg.8

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be
(A) 12¢m (B) 10 cm (C') 13cm (D)5 cm

/3) @mert( o meveraafler o wmuseT (penmG 1:2 whHmid Jeumilr oTmesT (pemmGu 2: 1
Sy afldamisafledmis, apumpler ser seresefler afldsim
(Ay4:1 B)1:4 (C)2:1 (D)y1:2

T'he ratios of the respective heights and the respective radii of two cylinders are 1.2

and 2:1 respectively. Then their respective volumes are 1n the ratio

(A)4:1 B)1:4 (©)2:1 (D)1:2
M) oy gdweamnienr HLeleossd p-ereafled, 3+ 5, 3y +5, 32+ 5 Sydweunmiedt
Sl LellevdsLome g
(&) 3p -5 (@) 3p (&) p+5 () 9p + 15
If the standard deviation of z, y, zis p then the standard deviation of 3z + 5, 3y + 5,
3245 is
(A) 3p+5 (B) 3p (C) p+5 (D) 9p +15
PART -lI
Answer any 10 questions. Question No.28 is compulsory. 10x2=20
i 5) BxA={(~23).(~2,4).(0,3),(0,4),(3.3),(3,4)} erexfed, A wpmp B gyHweuHednd
&16T0T1E.

If BxA={(-23).(—2,4).(0,3),(0,4),(3.3),(3,4)} find A and B.

Hs) [oflk)y="5, f(k) =2k —1 eevfled, k -ulledr w&lIeDUS SHTetors.
Find kif fo f(k) =5 where f(k) =2k —1.

|7) 13821 — 2"« 3 erevfled. a opmud b —uledr HLI &evore.
If 13824 = 2° x 3" then find a and b.

1) Ses@r - x> 9t
2 =rrplife x4 Y-
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'Q) . ) .
. .@wuaj'ﬂsur g.am@unem'g;m uwgledr QoL Game, RTONE L' 1q 60TTED
AeoLlug), Glopefis @ueto T beEnHe Wb SUIEDHIID Si6ulledr 4 2p600T(H e 6@
HbensI euwensud OUMSESS HDLILSHEGE Foi ereufled. sieurfledr

. HHCUTDSHWI CuIIDSE
BIETOTE.

The product of Kumaran’s

years from now is one more than twice his

3_0) S OUMBSHHOSTLIT euflemsuleir S-
10-eug ©_miliemud snevoras

age (in years) two years ago and his age four
present age. What is his present age?

“6Ug| &Mty 765 Hoib e1ng) efdsin 2 ereufley 3ig60T

Find the 10" term of a G.P. whose sth term is 768 and the common ratio is 2.

D |

)

)\) A areofled, 1° | eredTLIemES aflung ée.

6 5!

Verity that A° I when A [') l’}

22) AABC Seév ubsiuser AB obmib AC -ulleir Bgyeten yaeflsser wennGi 1) wHmh F

A A\l L ) . . s ) .
& DE | BC eteiimeunm) siswwmhgjeens. (i) [—I)IE L8 wOHoId A =15 6518 erenfle
AE et wdiy snesors. (i) AD=8x~7, DB=5s-3, AE - 4r 3 LHMILD
In AABC.D and E are points on the sides AB and AC respectively such that

DE | BC" (i) 1If 2 = e and AC =15 cm find AE.
DB 1

)‘5) S QBMbLSSILL(beTeT T, Y QUL (bSFITT(bHEMETSH OB BhHiHGsM haerfle
SLOEDTUM (b&H W6 HITETOTS

(i) 4. -6

Find the equation of a line whose intercepts on the rand Yy axes are given below.
(i) 4. -6

24) Prove the following identities.
WedTeusid (LHODT(Hem&SEme el sayD.

\/1 tsing Jl sin # ,

—TR——— S E——— 2secd

L —siné L+ sind

25 ) B; smbUSEHLL S60T JiaTeysafler eldsn 23 &L, S evorL Mo

80, D19l60T _WITID (LpGed S DIN6dT 2 wiTSHensit Bumed G WL G erevfled, SieunHmledT Sy hiser et
&g Hnesors,.

The ratio of the volumes of two cones is 2:3. Find the ratio of their radii if
the height of second cone is double the height of the first.

)—9 P(A) =037, P(13) — 012, P(A 11 B)  0.09 etevfled, P(.L L B) & Snevors.

It P(A) 037, P(B) 012, P(AN B) — 0.09 then tind P(.LUB).
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21) (5.~ 3) wHDID (7. 4) eTem B 66T UG EEEOID Bl SGETL 1g 6t
FLOSOTUM(H HTETOTSH.

Find the equation of a straight line passing through (5, 3)and (7, 4).
lg)@@ GanerddHlent b 257 AfaleEE0EUTE), aifswnab ypiuriiear g6efign sneors
The radius of a sphere increases by 25%. Find the percentage increase in its surface area.

PART -l

Answer any 10 questions. Question No.42 is compulsory. 10x5=50
)_q) A erediug) S-53 XL Gemmeureor Euied erevorserfledn &evuid, I erediugy S - 6l & & emmeurmeot
usT erevoTsefledn Sevord LHMID (' eTedTUS ST emLLILenL LG 6T6evor&eflen &ewild ereufled,
Ep&evuTL euhemmé slunidHe.
Let 4 = The set of all natural numbers less than 8, B = The set of all prime numbers
less than 8, ("= The set of even prime number. Verify that

() (ANB)xC =(AxCYN(BxC) (ii) Ax(B-C)=(AxB) - (Ax ()
30) 8 160 UGUGID IMETTS G eLP6ITINOVSS @ILIsH sTETTSHEl6IT S (NS6L SHT6TETS.

Find the sum of all 3 digit natural numbers, which are divisible by 8.

r+2 . ar>1
3 ‘) feredm snuNedTE f(r ) =12  —1< <l 6TE0T EUEDTIIMISSLILILL 6D
r—-1: —3<xr<-—1

(1) f(3) (ii) f(0) (i) f(—1-5) (iv) £(2) + f(-2) pdweubiied LHISHEDETE HTETITS.

r4+2: r>1

If the function fis defined by f(r)={2: -1<x <1 find the values of
a8 -3 <ar<—1

(i) f(3) (ii) £(0) (iii) f(- 1-5) (iv) f(2) + f(-2)

57) geu smer uHn 265.000 sLeDaT SEHUIE AEQIHS WS WSD 100 AFISHISDNT.
256 DG GeLaeuN(H WISWD WhHems LB AsQIsSmeei. I300 snborss
QEVISHADNT. U] ShGs HLENET HMLHS cTeUe6TEY ST CHEmEULILIHLO?

A man repays a loan of 65,000 by paying 7400 in the first month and then increasing
the payment by 2300 every month. How long will it take for him to clear the loan?

Qors Jonemrs - (Five) . S 7L

z3) 2ITE
Zyxr 28 x thX! naxtq
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,_
[ 3]

If A ‘ and B 1 1| showthat (AB) — B"A"

=1)

l . .
1 whHow B 1| |eeofleo (AB) = B'A" aeuenss

slunT &

j2 S o SeooL_Greuerfludlev

a SO whmnip b Sl 2 wigwpoeitenr &0 ecordh
SAITEOOTSHEIT £ SITEITE60T. SHITeGoT SerfledT 2 SHFluNedluabih Sl

erH 1 Bryuysitert SHITesorHerfleoT Q. TS 66T U I ILICHLLD

35) BSHIMbSHET 6 H1 5 SLD LjeiterfludesTt © U ITLDIT&oT &l
ab . A - 3 -

 — ST L_IT eredrLieoos BlerblLilsSssexylo.
a +— b
Two poles of height “a’ metres

and ‘b’ metres are “p° metres apart. Prove that
the height of the point of intersection of the lines

joining the top of each pole{ to the foot of the
opposite pole is given by — 22  metres.
a + b
A(=5.7), B(=4,k), C(=1.—06) womib D(1,5) spSweuDemD (PEDETSHENTEHS 6\&HTETOTL
36) © BIDeIsSHeT ugly 72 & SiGeeT erafled, A-ulleir SHIIewLs STeToTs.
If vertices of a quadrilateral are at A(—5.7), B(—4.k), C'(=1L.—6) and D(L5) and its
area is 72 sq.units. Find the value of £.
1800 15 2_wirgdled UDSHGLD b TOTSHOHHE CT Hlemauled eoner Hens GHrsbHs
eFeaIb & UL G&6T Ui &alLGEDE). elonearsHalmhs b UL &semer WwednGw 60°
37) whop  30° Bnées&Bsnaumisafly 2 Hm Crnédlamme, @meih ULGSHEDSESLD
BenLULL LS OFTene0emn6ld HTEUUTs. (\/5 =1.732)
An aeroplane at an altitude of 1800 m finds that two boats are sailing towards it in
the same direction. The angles of depression of the boats as observed from the
aeroplane are 60° and 30° respectively. Find the distance between the two boats.
el LD 20 61815 ©_6TaT QI 2_(HeWeT 6)Iq U HETITETDINIS GeuenaTuiled 9 6155 © WTHHHE
B 2 eteng). o 5 &5 wWHMID 2 Wb 4 655 2 eoLw @F ABlw 2 Geons 2 @hemer,
3@) Fifleb (pemowns App&LEUTE anUGLD Hifledr 2 uifeneud &eorbélbs.

A cylindrical glass with diameter 20 cm has water to a height of 9 cm. A small
cylindrical metal of radius 5 cm and height 4 cm is immersed completely. Calculate
@ the raise of the water in the glass?
- e 2 erafhn siemgbBanen eler 2 a1 HNID Geuafliymn K ohimer
cy Wwenm@w 3 15 wHmid 5 15 @b 6L 16T eSS LDILITIL HIMID EUEDETUTLIEDLIS &HIT60oTS
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L The internal and external radii of a hollow hemispherical shell are 3 m and
5 m respectively. Find the T.S.A. and C.S.A. of the shell.
1_\_’25\ ) SUetoith LUBEOLSET 2 _(HULUUMbLSOTmeT @uetoih (P& WEHUYSHEHID
FOWNS BHSHS G| (P& WHILBEET Fn (bHed | 346 BHUILGHSHTET [HlHSHSHED6US HT600T57
Two dice are rolled together. Find the probability of getting a doublet or
sum of faces as 1.

QO aunrdHHled Wb Wwreul L rhisefled QleucuBGeuny @ rasefled e1LLG wemulledr Siemeunent g
M\) udley e LWL b B QBNbSHSHUILL (bETEN ). OBM(b&HSLILL(LETET empwleTsiledt SIehin @
S L 0SS SHMevoTs.

wemnipwiaTey (15.15) 45 50 55 60 65 70
e B on o 9 TB D 4

The rainfall recorded in various places of five districts in a week are given below.
Find its standard deviation.

: Rainfall (in mm) B 50 55 60 65 70
Number of places 5 13 4 9 5 4

Lu) Qi swaGudl Bdsnsder b8 1007 BméebGurs)
(battery power) simeGuilenwill LILETLGSSS OBNLRIGHAGDD. = Wwesdll GBIbD
LweTLGSSW NG 55 Bmé6b Wtswser 668 y sa6isb (B5105H60) 28
y= 0251 +1 y@Ib.

(1) ergpemer wewfll CHIsHDGL IDG WeTsndHer sobd L0% 268
SODHIHBHSHGLD 6T60TH HM6ToTS.

(il) Bt sars Ws sbHew BYss TGSHGOBTETEHD ST SiaTey
eTeuEUETEY?

A mobile phone is put to use when the battery power is 100%. The percent
of battery power ‘Y’ (in decimal) remaining after using the mobile phone for r hours is
assumed as y = —0.25x + 1

(i) Find the number of hours elapsed if the battery power is 40%.

(ii) How much time does it take so that the battery has no power?

PART - IV

L 5/ Answer all the questions 2x8=16

(Q\ PO = 156618, LR - 35 whoud & &6 F-uledlmihe) euemmuitine L mbd Gt e Bemb
Y RG—6 688 aret siemwwjorm A PQOR euengs.

Construct a APQR which the base P — 45 cm, ~ R 35 and the median RO
from K to ’()is 6 cm.

OR

\b) 15 €65 gpouerer eulL b euemas. eul L Hdledr B8 aBGoenid @ yeatallde WIHD)
UL 58)6001(b GoHMHM & &) emenri) LWIEDTLIGL S S & 6\B1HESHI1(H el S

Draw a circle of radius 4.5 cm. Take a point on the circle. Draw the tangent at that
point using the alternate segment theorem.
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Gumhel Hlemeowid SHBS 2_6Tem @[H 5&HHT UTHATD FNIGHIOL SHFl6d UMLK SHLL600TH

8 12
60 120 180

QUDLILHD S L600TSH OSTEDSWITETE 6unoHed HnissSILGD Crrsddne Gmi wmmumiqed
o _aTaTen i I WIMUTLIGE D ET6THT 6T60T JYOMLG. OBMLSHHLILLL  HI6YsHemer
UL GHe @Mdseyd. Goeid, (i) Hodsliumd Gmub 6 weofl eeflod, &L eors
OSTEMBHEDWS HMevurd. (ii) T150 & s LS OFTemSWNSE OFNGH EphoTev, EmSHILLL
CHUSHH 6T SNeTEMEUSH HITEOUTES.

~

A two wheeler parking zone near bus stand charges as below.

Check if the amount charged are in direct variation or in inverse variation to the
parking time. Graph the data. Also (i) find the amount to be paid when parking time
is 6 f1r; (ii) find the parking duration when the amount paid is T150.

OR
y =2’ + 30+ 2 ~ulledt euemIULLD EUEDITHE), HHEWEOTLI LIWETUGLSS +° + 27 + 1 - () er6biD
FOTUTL ML & ST SH&HENLD.

Draw the graph of y = +* + 32 + 2 and use it to solve &° +2r +1 =0

M.A.SENTHIL KUMARAN

B.T. ASST IN MATHS
V.M.G.H.S. SCHOOL
PERIYAKULAM 625601
THENI DT
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